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< 4,800
Al 19,200
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= 35,750
Al 58,250
402 RI2EX20| A 94,000 165,600 A 71,600
< 35,750
Al 58,250
01 22t 22X 94,000 165,600 AT71,600
OZUAS PULH HHASAIE
50,000, 000& * 10 2= *80% 40,000
< 15,000
Al 25,000
ODNEBE MHSAS MAI|ZAY
10,000,000 = 17H A x80% 8,000
< 4,000
Al 4,000
OZUA=S Old=sE AT AlE
7,500,000 =30 2 *80% 18,000
= 6,750
Al 11,250
ON&HO KSHE 4215l E
10,000,000 * 17H 2 x80% 8,000
< 3,000
Al 5,000
OSSUH iD= AIEEHX =4
10,000, 000& * 174 A 10,000
< 2,000
Al 8,000
ONERURES B Al
12,500,000 = 1JH 2 x80% 10,000
< 5,000
Al 5,000
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< 30,000
Al 30,000
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Al 30,000
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< 30,000
Al 30,000
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AMAETHA M= 420,000 120,000 300,000
402 RI2HXt20l 420,000 120,000 300,000
01 2I2tX2E X 420,000 120,000 300,000
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OAEZSI DETHEE AlIE
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=23l 53,532 48,264 5,268
JlE2&l 53,532 48,264 5,268
201 et 11,592 10,584 1,008
01 At 221l 11,592 10,584 1,008
ORA2Y JI23Hl 11,592
202 Odl 38,940 34,680 4,260
01 = LH YI 38,940 34,680 4,260
O=U o di 38,940
203 YR =&t 3,000 3,000 0
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